——
N = 0 & AF & Y A
20198 &= 20l A LBEESH M A
=S H
LSS0 29
HUANRL SH(SEH) o HE)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol &F o4 %@ﬁ HRE2
366,175 265,944 100,231
SEE0H 29 328,530 231,849 96,681
24 2H9(5s9) 328,530 231,849 96,681
SH FO=2AALE 57,900 50,000 7,900
401 AlEHIZL 2 0HY| 57,900 50,000 7,900
01 Al& H| 57,900 50,000 7,900
OAR2FOU=2AANS 50,000
O0tsSet2 HHIZ2AH(FOAH 81 7,900
EH ARD S#HAIXS 14,340 4,340 10,000
201 LBt 10,000 0 10,000
03 A2 E H| 10,000 0 10,000
O&ssHD9 Y 10,000
301 et A= 4,340 4,340 0
09 HAIAHI BEAZ 3,340 3,340 0
Oz 1,000
OAHoOlEEUE 20,000& x25H 500
OoFE(BE) MEeta 40,000 26 1,040
OJ|EFSH A} 20,000& *40H 800
12 JIEtE A2 1,000 1,000 0
OsAdX A 1,000
SSH ASsSYHEl &9 7,034 10,414 A 3,380
301 et A= 7,034 10,414 A 3,380
04 XtsHHHAH XS 7,034 10,414 N 3,380
O 0FA HI 4,0002 x2H %365 2,920
OXt& = X bl 3,000
OdIlz 6,000 x12& 72
(@)%E=1:] 392,000 =104 &~ 392
O=Aze| s X b 150
OXsgtdil 2494l 500
EH ECEAE 29 87,630 87,630 0
301 ety A= 87,630 87,630 0
05 S& - 0|2 -t EsSEAZ 87,630 87,630 0
OJlesd 200,000 x26H x12& 62,400
Ooa3 200,000 *26H *200% 10,400
O3lo &4 4t 20,000 26 23| x12& 12,480
OsrtaE M= 25,000 *47H x23| 2,350
ESSH HAL2E 151,626 79,465 72,161
101 e1214| 14,343 13,610 733

- 562 -




2N
X ZH -
L= B

el

ot
o 2o
24 2Y(SEY)

N-Z33.22(3H) - H2AY - BES Hwsz
04 JIAH2EZRE B4 14,343 13,610 733
OFR T2 JI2JH 68,9002 *158+103] 10,335
OgeiAY oI 66,800 *602! *1 4,008
201 Ler2 | 56,280 37,280 19,000
01 Ak 22| 39,780 20,780 19,000
OYS & SHI (HA, S8, 5046 15,200
ozl 1,680
Oos3=7 gxe 1,500
O AL oI ZH| 100,0002 % 11 A * 128 1,200
O=Xs2 2Ryl 100,000 *1JH A * 128 1,200
Odtd |2l YU 19,000
02 222 16,500 16,500 0
OZZ22 2 MA 8,000
OSSHI (B A =X 3|2, 5 E) 4,000
ON& EHI X 4l 2,000
Ox &t 2,500
206 TH 2 Hl 6,060 5,675 385
R 6,060 5,675 385
OBLXH 600
Ogolr= RFHI(FR) 1,4002! *3,5002 4,900
OWALE RRUI(HLR) 1,600 %3504 560
401 AlEHI 22 OHYI 64,443 9,000 55,443
01 Al 64,443 9,000 55,443
OSIH A BHl Al 200,0002 *50% 10,000
OBEAL MOHIH L DA 90,0008 x322. 7 29,043
OBIFHA LT T4 ZA 5,400
OSIHA WRSESTI 89 20,000
405 XtarE S| 10,500 13,900 A 3,400
NIPEEEE SN 10,500 13,900 3,400
O 3,500,000% *3CH 10,500
BIMSUE % ASHA 10,000 0 10,000
201 Lere | 10,000 0 10,000
03 #AL2 St 10,000 0 10,000
OMBIHSHS L 2AZsA 10,000
SR ] 37,645 34,095 3,550
ZH(s52) 37,645 34,095 3,550
2P (s59) 37,645 34,095 3,550
201 2et2 | 2,925 2,975 A50
01 Ak 22| 2,925 2,975 A50
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